EARAROBEEIERT — 2 N— IBISH —F

201758H270 (B) 5EIKR5H

Ll HFEEEFSIFFE C2A# 5% —M#% \ (X B \ (3Ersh]  — | & () 14000 B
[AE4£] 17 :200,000 ™ ~ 237%&:40,000”  337%&:20,000H” . 43&:14,000H 53 :6,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o= e — > AR :32. -1-1- . — HREEE (B%RE)
i o | IN5HS > 3 o 1(3_2)3 1-1-1-1 | 40.2 2 (ﬁé) etk
R:x > TANZ N B:A44T7I2IL H—L— - Jv/X> - T7—LARS
o — o el |5t :33. E2208 . — FEER (KR
2 6 TS5 RE= b 4 3 ;6_0 1(373)4 1-2-2-2 | 40.7 1 (4+923) i
R:vayr>h>7 B:74—/—T> HET77—L
R R Tz . . — FiEE= (BRE)
5 3| 1772 i 5 S 1.(3333.9 5-5-5-4 | 40.4 4 zzgz; (%)ﬁaaf;unv
LA X L By x—NUAF T R
>3 AT : ~6-3- - EEE (KR
4l5|5 | F9rryza— i 7 ks 1(/%? 7-6-3-3 | 40.4 3 <4+130) HEREE
LT v TRy b BiYIN=Tadq e
e S ft 3 | BERRE 1:34.3 4-4-4-5 |40.9| — 6 423 | fEBEHEE] (KR)
5/1[1|F=7—87 54.0 2 1/2) 7 | FHES
R:FHVYYT1ZXE B:RTLy K7—LX TADAS
S S AFi8E :35. —-3-6- . — =iEt (KR)
6lzl7|3vy7> o4 as] 1(395)7 3-3-6-6 | 42.3 5 (5_034) ok
L:Z2Y—A—ILZX B:eAY>FRU—F BELENS
e == R : ~7-7- - BAAER] (KIR)
7 MRS =SS Rt it 5 ;\\;53_0 1.(346).4 6-7-7-7 | 42.5 7 ;1_537) :’;;‘ﬁﬂﬂz
L:FFHRTFLT B by TITELC b ke
® I —F—EBIERL
13=7r= (2,6),7,1,3,4,5
23|=7r= 2,6,7,1,3,5,4
Jol=5r= 2,6,5,1,3,7,4
40—+ — 2,6,5,3,1,7,4
[ N3
BB 2 340H 714K 2-6 110H B = 2-6 130M 3EHE 2-3-6 390M
8 B 2 110 2=} 250M B H 2-6 280M K31 2-6-3 1,260M
6 1009 3-6 190M

ABICOVWTRDTEEERROODE. TR LIV,




